AN BESEEGERAR PCB #x A &[5 SR R, AIE. RS

JKF2. JKFS2-smmepzimn

eIl
C JKEFS2 — 632
Ty
ESICOE ]
MER S R AR
T A
R e JP
B E R WBEE R B E AR REAHE R E
JKF2 WERLL, A 6H, ] 2B B M HERHHES | 75T HRB65 5Y HB116 Bk PCB 4R
JKFS2 WERZL, Aff 6H, ZHl 2B | 300 RIIANFEN sifbAba A% HRB70 5% HB125 5, PCB %
FE R~ (AL Fi in)

— RE R B | BN | REALER | A c E T | &b
" B | e | R wRE +. 003 =P =N +.005 | +.005 | BFLEE
2#-56 JKF2 | JKFS2 256 . 060 . 147 . 060 . 165 .219 . 065 .16
4#-40 JKF2 | JKFS2 440 . 060 . 166 . 060 .184 .219 . 065 17
64-32 JKF2 | JKFS2 632 . 060 . 213 . 060 .231 . 281 . 065 .22
8#-32 JKF2 | JKFS2 832 . 060 . 250 . 060 . 268 .344 . 096 .25
104-32 JKF2 | JKFS2 032 . 060 . 272 . 060 . 290 . 375 .127 .28

p— REFRE Ba | BN | REALER | A C E T B/
" B | AER | RS R +0. 08 =T BAk | £0.13 | +0.13 | IRFLEE

M2 x 0.4 JKF2 | JKFS2 M2 1.53 3.73 1.53 4.19 5. 56 1.5 4.2

M2.5 x 0.45 | JKF2 | JKFS2 M2. 5 1.53 4,22 1.53 4. 68 5. 56 1.5 4.4

M3 x 0.5 JKF2 | JKFS2 M3 1.53 4,22 1.53 4. 68 5. 56 1.5 4.4

M4 x 0.7 JKF2 | JKFS2 M4 1.53 6.4 1.53 6.81 8. 74 2 6. 4

M5 x 0.8 JKF2 | JKFS2 M5 1.53 6.9 1.53 7.37 9.53 3 7.1

PERESH-JKF2. JKFS2

IS [ awwa ]

igﬁ'ﬁ: PR AR Z¥H | Wl | HEA WELL WRAR Z¥5 | A | #HE A
aw BB AR 1bs. 1bs. in. 1bs. e BB &R KN N N.m
256 | .060” FR-4 % | 400 60 6 M2 | 1.5mm FR-4#% | 2.2 | 257 | 0.68
440 | .060” FR-4 4% | 400 65 15 M3 | 1.5mm FR-44% | 2.2 | 290 1.7
jIKKFFszz 632 | .060” FR-4#% | 500 80 30 M4 | 1.5mm FR-44% | 2.2 | 420 3.4
832 | .060” FR-4# | 1700 95 35 M5 | L.5mm FR-4#% | 2.9 | 440 4.5
032 |.060” FR-4# | 1700 100 40
BYEMLL: 13914003355 (F4A4) FAR®#: 13914002255 CAhsed)

BEJERS: 13511601078 (F4E) A ML www.szjdph.com



